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Tuesday
Solve the word problems on the next page.
To decide what you need to do (+ - x ÷) you will need to ‘try smaller numbers’. Above the numbers, replace them with a smaller number (between 1 and 10)- you must make sure the biggest number remains the biggest and that the smallest number remains the smallest. This should help you to decide what to do. Solve the real calculations.  Do one set, do them all…it’s up to you!
For example
Betty wins £1200 on the lottery.  She wants to share it equally between her 4 grandchildren.  How much will they each get?
Becomes…
Betty wins £10 on the lottery.  She wants to share it equally between her 2 grandchildren.  How much will they each get? 
They should establish that ‘the answer is £5 because 10 shared between 2 is 5, so I need to share/divide’. 


	4 people have a meal which costs £36 altogether.  How much does it cost them each?
	Ben is 25 years old and his Dad is 26 years older.  How old is Ben’s dad?

	There are 97 bean bags in a box. If John takes 14 bean bags out of the box. How many will be left in the box?
	Damien had 142 stickers. His Mum gave him 18 more.
He then gave half to his brother.
How many did he have left?

	The football team is planning a trip. There are 13 boys and 4 seats in each school car. How many cars are needed to take the team?
	Francis has 28 sweets Sandra has 25 sweets. If Francis gives 2 to Sandra how many sweets will each girl have?




	Annie has 28 crayons. She is given another 13 crayons and finds 8 in her bag. How many crayons does Annie end up with?
	There are 45 cards in Sara's collection. If the cards are split into 5 bags, how many cards in each bag?

	In a school of 128 children. 
46 of them walk to school.  36 come by bus.  The rest come by car.
How many of the children come to school in a car?
	A box holds 70 biscuits. How many biscuits are left if 17 are eaten?

	It takes me 2 hours to paint each wall. I have 3 days and am going to work from 12 noon till 5 o’clock each day. How many full walls will I paint? How much of the last wall would I paint?
	Sally had 5 packs of pens. There were 8 in each pack.  She lost 7 of the pens.
How many did she have left?




	Jade’s mum buys a pack of 8 kiwi fruit for £1.92. Individual kiwi fruit cost 30p each. How much cheaper is each kiwi fruit by buying in a pack?
	The class can make 19 sandwiches from every loaf of bread. They have bought 4 loaves and intend to share all the sandwiches equally between the children. If there are 24 children in the class how many sandwiches each?


	The shopkeeper has 1227 red pens and 3439 blue pens.  How many pens does he have altogether?
	Computers cost £349, laptops cost £696.  How much more do laptops cost?

	I buy a magazine for £2.36 and a book for £2.64.  I get 50% off.  How much do I spend?
	A family were going to travel 200 miles.  In the first hour they travelled 48 miles.  In the second hour they travelled 65 miles.  How much further did they have to go?
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@ Year 4 Week 4 - Homework - Answers  Name

What's the time?

Draw the hands on the clocks to match the times.

q:45

Count up times

Count up to the next o’clock time for each of the four clocks in
questions | to 4.

(5] 15 | minutes (7] 36 | minutes
- £ » £
T 1 I 1
945 10:00] [1224 1:00
0o 48 | minutes (5] 7 | minutes
- £ » £
I 1 I 1
32 4:00 6:53 7:00

© Alileaves school at quarter to four. He gets home at ten past
four. How long is his journey?

25 minutes

(D Debbie has to bake a cake for 30 minutes. She puts it in the
oven at five to ten. What time should she take it out?

Twenty-five past ten
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@ Yeor 4 Week 4 - Homework - Answers

Name

MM E e a rvker to :
ring in cm and {Usea measire a
Measuring { the string accorately. |~ -}
o
@ Loy damp string or thread along the snake and T
cut it to the same length. Measure the string. ~
Write the snake’s length in cm and mm:

125 cm 125 mm

Complete these sentences.

@ s0cm=[ 600 |mm Q2
® s3cm=] 430 |mm D[ s

(@ Which of these could measure 25cm in length? Explain why
you think this.

O@%

A plate could measure 25 cm. but accept any answer which shows

cm =220mm

mm = 18cm

correct understanding of the measurements (e.g. a large toy

mouse or a small toy broom)

Ifound this:
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1. Take five coins: 1p, 2p, 5p, 10p, 20p.
Put them in a row using these clues.
The total of the first three coins is 27p.
The total of the last three coins is 31p.
The last coin is double the value of the first coin.
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2. Take six coins: two 1p, two 2p and two 5p.
Put them in a row using these clues.
Between the wo Ip coins there is one coin,
Between the fwo 2p coins there are wo coins,
Between the fwo 5p coins there are three cains.

‘What if you fake two 10p coins as well, and
between them are four coins?
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139:6=23r1
146 +6=24r2
153 + 5r3
187 +6=3Irl
206 +6=34r2
10 x3=30

10. 20 x3
I 20x3=
12. 42+3
13. 41+3=
14. 69+3
I5. 64+3
16. 40+3
17. 77+3=25r2

18. 95+3=31r2

19. 100 +3=33r1

Think. [even] + [even] is not
always even.

For example, 12 +
50+ 4 = 125 etc.
fodd] + [odd] is never even,
can be odd or fractional.
For example, 9 + 3 = 3 (odd)
7+5=1r2orl4etc

=3 (odd)

Page 90
L 10x4=40
2. 20x4
3. 30x4=120
4. 40 x 4 =160
5. 89:4=22r1
6. 99:4=24r3
~ 8 t-he-456-mindfuln...pdf

28.
29.

40 x 8=320
178+8=22r2
30.199+8=24r7
31 251:8=3Ir3
32.276:8=34r4
33.287:8=35r7
34.330+8=4Ir2
35.345+8=43r1
36.364+8=45r4
Think. All statements are false.

Page 9l

55

28cm

7004

£1024

2%

360

14 meals with £2 change
1214

PNow s wN T

Page 92
I 258
2. 22
3. 8
4 304
5. 1713
6. 68
7. 340

Page 93

I 7574 - 800 = 6774
2. 5643 - 50 = 5593
3. 782-58=724

4. Q77 x 4=3908

~ fl node-35853-35853.zip

26.
27.

Pa
L

2.

Pa

£1024
10969

ge 94

Answers will vary, for example
973 + 638 = 1611

Answers will vary, for example
254 + 253 = 507

Answers will vary, for example
196 + 254 = 450

Answers will vary, for example
429 + 127 = 556

Answers will vary, fop example
638 + 973 = I6l1

973 + 958 = 1931

Answers will vary, for example
852-843=9

Answers will vary, for example
653 - 164 = 489

. Answers will vary, for example

a73 - 253 =720

. Answers will vary, for example

253 - 196 = 58
Answers will vary, for example
638 - 196 = 442

ge 95

. Answers will vary, for example

71x7 =504

. Answers will vary, for example

64 x 5 =320

. Answers will vary, for example

19x2=38

. Answers will vary, for example

6 x 88, 480 + 48 = 528

. Answers will vary, for example

53+2=26r1

Showall X
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@ Yeor 4 Week 4 - Homework Name @ Yeor 4 Week 4 - Homework Name
What's the time? == == == = = = H in cm and mm F; H
{ Measuring in ] o]
he hy he cl h the times. i i
Draw the hands on the clocks to match the times. i @ Loy damp string or thread along the snake and i
{ cut it to the same length. Measure the string. N~
i Write the snake’s length in cm and mm: i
E \W !
Q45 S 1224 652 m m
Gollnt up times . Complete these sentences.
@ 60cm= mm [14) cm =220mm
Count up to the next o'clock time for each of the four clocks in B i
questions | to 4. ® @am-= mm © mm = 18cm
. . (@ Which of these could measure 25cm in length? Explain why
(5] minutes o minutes you think this.
A e
T 1T 1
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© Al leaves school at quarter to four. He gets home at ten past
four. How long is his journey?

(D Debbie has to bake a cake for 30 minutes. She puts it in the
oven at five to ten. What time should she take it out?

Ifound this:
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